EARAROREIERT —IN—BISTH—F 20224656218 (1) 3@EhE5H

R YA S - ‘(fﬁ} B ‘[%EH?’;F&] — | = w000 B

[AE%] 1 7%:5,200,000 § ~ 237 :2,100,000 @ .~ 37 :1,300,000 4 3&:780,000 § . 5 7&:520,000 H

& RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—ap e N N )| | R : -1-1- . . T (FR)
1 : BIEA=IA =R B3 L 2.((!).6 1-1-1-1 | 34.8 89.6 | 1 21_923) ﬁﬁmg
R:O—RApFrO7 B:TJULYFEFZ #HBEI77—LA
N = B3 | B 2:02.0 5-5-5-6 | 34.8| 85.5 | 4 | 464 |EEREEE (RR)
2 &/7045 56.0 2 1/2) g | W FIIvIR
RIFVITHANXN B:RATY RRR ==
2 ) BEELES NSRS 303 g%%oﬁﬁ 2:?32).5 7-7-7-7 | 35.1] 80.2 | 3 z:éf éggg (EHR)
RiANWTz—9) B:EI—-ILRUIR SHS
S Lol fE— : -5-5- KiRHEZ (FR)
A NA Ty RI—2 B3 el 2(.10/22.)5 5-5-5-4 | 35.4] 79.5 | 9 185) il
R:Tv VI y b BiNAT4—JLR AW\ T HE
it 3 | BRE 2:02.7 3-3-3-3 [35.8| 74.1| 2 510 | #IEI (ER)
5 HhYOI— " 5.0 o Ly |Orvi—s
RiFVVvY/FEF BV FrYEAVRT7—L
=~ s 3 | S 2:02.8 10-10-10-9 | 35.1| 77.1 | 7 | 4% |&% (FR)
618110 F—hRIL—3Y 56.0 (3/4) 14y | RBYE (%)
RN—EVYIv— B:h—RIRILFT "Ms =&
» KEERH :02. -3-4- . X BRRe (ER)
ARNIERNZZ 82N *3 3557 2(10/22)9 FIAA B8 2T ‘:Zf SHE
RIET7RAT 8:7IWFPI—F BHT7—L
N FaMEL : -2-2- RERX (FR)
8lglo| 7RIATA—L 4 3 Eie 2.(033).4 2-2-2-2 | 36.6| 64.6 | 6 (4;12(; BEEX
R:O0—RAF0O7 §:7RIATI—T J—YUTr—L
SR v 3 | WHEXE 2:04.0 7-7-7-7 | 36.6| 58.8 | 8 434 | BERE RR)
9l7|7|0—RLAHY— [B] 7 56.0 (31/2) (-4 | @) O—RK-2757
R:O—RAFO7 B:LUF«/IRTI TATAT7—1
AET :04. -7-9- . . EREEEE (W)
10l5] 5| Tat—<2T 4 3 R 2?53 8 7-7-9-9 | 37.1] 52.0 | 10 21_3(3 L i
RFAUAYRA NUAw b B:Yv ROUTRT Pl
[ BN
Eh' 46.7-34.8
NOVFA L | 12.8-11.3-13.1-13.0-12.6-12.1-11.9-11.5-11.5-11.8
@ I1—JF—BEBIEfI
13—7+— (+3,9) (1,6)-(4,8) (2,5,7)-10
20—7F— 3,9(1,6) (4,8) (2,5,7)-10
30—7— (+3,9)6,1(4,8) (2,7)-5,10
43— — (+3,9)6(1,4)8(2,7) (5,10)
o ILRE
B 3 2004 JA R 3-8 220/ & 3-7 460 3EE 2-3-8 410
B B 3 110M4 2-3 1804 /B E 3-8 460 3EE 3-8-2 1,640
8 140 2-8 310 o= 3-8 680M]
2 1309

ABIC OV TRUTEREERRODDZE. THRIIZEL.




